PISCO.

http:/fwww. PISCO.CO.jP

B Connection: Thread © Tube NG

@53 elbow
X

E oX

=

S ' _
Jo Release ring Release ring

‘” m|22P2L T - TR - Mini Standard
1 E: | Q @ D:3~6(Except R3/6)

~ ol [ [ -l|_ - 1/8

' A l e o S

o

45T M e

Metric thread Unit :

e e [ el e

'max. | min. | oX file name
JSC3-M3DE® M3X0.5(25(22)| 29.2 | 26.5 | %7 .wmc. 169) - 66 | JSC3-M3_(C)
JSC3-M5@DEE) M5X0.8/29032) 29.7 | 27 _J~ B |41 (38 a.?[aau | 7.3 | JSC3M5_[C)
JSC4-M3DEE IM3X0.5/2522)| 29.2 | 26.5 |2 2:1@;2&.31 66169)) o e | 6.6 |JSCAM3_IC)
JSCAM5D®E® | 4 |M5X0.829(3228.7| 27 za.\.[z:-.a] wmg|ereal 8 | | 11| T |9.8|7.8| 7.2 | JSC4ME_(C)
JSC4-01 ®® R1/8 | 8 [415(34.9/375/309/10.7 14.4 17.7| 10 17 |JSCa-01_
JSC6- MSQH'_Q__ IM5X0.8(29(32)| 29.7 | 27 | (28 |241(28)|75[72)| 9.8 117.5] 8 | | 7.9 | Jsco-M5_[C)
JSC6-01@ 2 'R1/8 | 8 |415 34.92375_309 10.7/110.5(14.4| 11.6/18.3] 10 lm 5 9.8 | 18 JSCBEH _
Jsceoz@co R1/4 |11.1/489|42.2 428(36.1/11.9 18.4 202 14 | 35 |JSCE-02_
JSCB-03@®)| 'R3/8 |13.2|54.4|469| 48 |405(15414.4| 22 | 17 | 29 | 19 | — | 665 |JSC6-03_
JSC8-01@E® R1/8 | 8 |415|34.9/375(309|11.9 14.4 26.9| 10 | 21 |JSC8-01_
JSC8-02@B)® 5 R1/4 [11.1]489|422|42.8|36.1 13.2.11:“1 184 e 284 14 Lol = | 38 |JSC8-02_
JSC8-03@® R3/8 [13.2(54.4(469| 48 |405/154| |22 | |289| 19 | 65 |JSC8-03_
JSC8-04 D® R1/2 | 16 [59.7|52.4/515]442] 18 28 31 | 24 1101 | JsCcs-04_
JSC10-02000 | R1/4 [11.1]48.9(42.2|42.8|36.1|14.8 18.4 309| 14 | 41 |Jscl0-02_
JSC10-03@®| 10 | R3/8 |13.2|54.4(46.9| 48 [405(16.7|17.6| 22 |20.2|31.2| 19 [168| — | 69 |JSCI0-03_
JSC10-04@06) Ri/2 | 16 |59.7|52.4|515/442] 18 28 336| 24 1104 |JsC10-04_
JSC12-030® R3/8 |13.2|54.4(46.9| 48 |405/18.4 22 369/ 19 72 |J5C12-03_
—_— {2 21 23.4 198 — ==
JSC12-04@® Ri/2 | 16 |59.7|52.4/515(442(19.7 28 36.4| 24 107 |JSC12-04_
JSC18-M3DEE M3X0.5(25(22)| 29.2 | 26.5 |27 (27| 24243) |66 (6.9 6.6 |JSC1 843 [C]
15C1BMs000, 78 [msxos|2spa|207| 27 (mmmmnen ° | 00| M [14) 8 |98 |78 s s
JSC1/4-M5DEE0) IM5X0.8|29(32)( 29.7 | 27 |2%8(25)| 41(48) 84 B.1)) 9.8 24 | 8 | 95 | KC14HHE_(C]
JSC1/401@80)| 1/4 | R1/8 | 8 |41.5|34.9/37.5/30910.9(12.4{14.4| 17 |235| 10 |11.8] — | 19 |JSCI4-01_
JSC1/4-02056)| R1/4 [11.1]489(42.2/428|36.1|12.2 18.4 255| 14 36 |JSC1.4-02_
JSC5/16-01OEE) | |R1/8 | 8 |41.5|34.9/37.5/309|11.9 144 1269| 10 | | 21 |JsCh1601_
JSC5!1602713'3@ 5/16 | R1/4 | 11.148.9(42.2|42.8(36.1|13.2|14.4(18.4|18.1|28.4| 14 |13.8| — | 38 |JSC5.16-02_
JSC5/16-03@®) 'Ra3/8 |132|54.4|469] 48 |a05|15.4 [ 22| [289] 19 | 65 |JSC51603_
Jscsrs-ozcoo 35 R1/4 [11.1]489(42.2/42.8|36.1/14.8 o 18.4 o 309 14 |, o | 41 |JsC3802_
JSC3/8-03@® | R3/8 |13.2|54.4{46.9| 48 |405/16.7| | 22 |7 "|312[ 19 | 69 |JSC3.8-03_

#1.(@ in model code : Replaced with "A" for Meter-out, "B" for Meter-in.
% 2. (8 in Model code / Replaced with “K" for Low cracking pressure type.
(No (8) in Model code indicates Low cracking pressure type is not available.)
3% 3. (8)in model code : Replaced with "W" for Light-Gray, "-C" for Cleanroom package, and "W-C" for Cleanroom & Light-Gray.
# 4, "L1" and "L2" are reference values for height dimensions after tightening a taper thread.
# 5, Valuein|[ ]is for cleanroom packaging.

Characteristic chart page Page for special specifications CAD data is available at PISCO website




